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ax+by=-—9
(1)
bx—ay =19

DEMN, (x,y) = (5,3)DEE,
a,b DEZERDTSLY,

(a—3) x— (b+1) y=—13
2)

(b—6) x+ay=-—5

DfEMN., (x,y) = (—1,3)DEE,
a,b DIEERHEILY,

3x+t+ay =3b —11

(3)
bx+4y =2a —7

DFEM, (x,y) = (=5, =5)DLEE,
a,b DEZEROHITELY,




;BB
cEy DIEZHRALT, BETHE

5a+3b=—9 25a +15b =—45
(1) —) —9a +15b =57
—3a+5b=19 3Ma = —102
a=—3
—154+3b = —9
3b =6
=2

(a,b) = (=3,2)

cky DEZRALT, BETHE

Dx3—@ x3
—a—3b=—13 (D —a—3b=—13
2) —) 9a —3b=-—33
3a—b=—11 () —10a =20
a=—2
2—3b = —13
—3b = —15
b=5
(a,b) = (—2,5)
x&y DEFRALT, BET 5L
—5a —3b =4 EXIQ)) D x2—©@ x5
(3) —10a —6b =8
—2a —5b =13 ) —) —10a —25b =65
19b = —57
b= —3
DIZRALT
—5a—3%x (—3) =4
a=1

(a,b) = (1, —=3)




